FCE1 / Objective First / Writing folder 8 / Language

o Use the verbs on the right in the appropriate form to fit in the sentences.

H is essential that motorists taxed more, so BE

thot thef care — —— . a less attractive o[;v+ion. SEEM
The Keyito) the number of cars on the REDUCE
rood B e higher taxes on motorists. IMPOSE
It is essential . ______ the opportunities for REDUCE

park-inﬂ in the c.‘|+y centre.

One of the biggest challenges in the short term wil

e . __ people to use public. transport. FERSURDE
With lower speed limits for Pr‘iva'l'e cars that migh'i

become a more attractive opﬁon.

The keyto trafFFic in urbon areas is REDUCE
,,,,,,,,,, Pe+rol prices 9ub9+an+ially, so that RAISE
drivinﬁ becomes the less obvious choice.

1 is vital that the number of cars in the Gty e BE
restricted so alrivinc_:] Per‘miJrs For use ISSUE

onh certain days seems a ﬂood policy to adop+.
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